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(2) V48 =6 x 2

(3) 3—4+41-—52

27a?b8c?

(4) —3a?b?%c x (9ab?)3 + .

(5) 1512 — 1502
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(1) (t=2)(t+4

(2) (x—2y)?
(3) (x+2)(x—2)

(4) (2x+1)?(2x —1)?

3. o & R L,
(1) 6x%y—9xyz

(2) a®?—24a + 144
(3) 6+5a+a?

(4) a? —25b?

(5) a(x —y)—bx + by
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®-2, 2 @ 0, —2 @2, 0 @-1, 2
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D3 ® 15 ® 45 @75
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O 180° © 360° ® 72° @ 90°
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O 7 @ 8 @ -7 @ -8
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(2) |54 1 NAOASGEZRD K,

7. WOBWIZEZ X, 4 b
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(1) 4 >0¥¥a,b,c,d [ZOWT, . 4 =ad —bc 95, HlziZ, =1%x4-2%x3=-2Tbh5s,
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(2) T5kmDEDY 2 HBHE TIT DI, 28F/H 30 9205, ZoLEoms (FEd) (3ikn/h 735K &,
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2. %2R
1 t2+2t—8 2) x% — 4xy + 4y*? (3) x?—4
x2 9
(4) 16x* —8x +1 (5) - ——
9 y2
3. 3K
(1 3xy(2x — 32) (2) (a —12)? (3) (a+2)(a+3)
(4) (a+5b)(a—5b) (5) (a=b)(x—y)
4. %3 R
(1) @ @) @) 3) @ (1) ® (5)
5. %5 m
(1) 112° (2) 115°
6. %5
5x + 3y = 2800
W fax t 2 = 1700 @ 1004
7. %55
(1) x=-14 (@) 30km/h ®) =
8. %5
1 15 3
(1) = —— (2) — (3) —3,—
y=-5x+3 2 (=3,%)
= R K4 ==
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